
MAKING AN ENVIRONMENTAL DIFFERENCE

WHAT DOES A REDUCTION OF 150 TONNES OF  
ANNUAL CO2 EMISSIONS MEAN IN REAL TERMS?

globe-europe 

Wykamol set themselves a target to reduce 
their carbon emissions by 150 tonnes per 
year, and they are well into their journey 

with a combination of factory solar panels, 
membrane collection & recycling scheme 

and a fully electric field fleet.

Sitting back and 
doing nothing is no 
longer an option, 
and Wykamol are 

making a difference 
with their ECO 
commitment.

Contact Wykamol 
today on 0845 400 
6666 to be part of 
their ECO journey, 
and help to make a 

global C02 difference.

An annual reduction of 150 tonnes 
of C02 emissions equates to :-

•	 7,750 cups of tea per day

•	 Driving 18 times around the 
earth in a diesel car.

•	 A reduction in arctic ice melt 
equivalent to the area of 7 
average UK homes.


